Common Assessment: Cycles
[image: image1.png]60.  This diagram shows the flow of carbon in a terrestrial ecosystem.
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Which will most likely happen if the decomposers are removed from the carbon cycle?

Decomposers

The amount of carbon dioxide in the atmosphere will increase.
The amount of carbon dioxide in the atmosphere will decrease.

The amount of carbon dioxide used by producers will increase.

O o w »

The amount of carbon dioxide needed by consumers will decrease.




       1.

2. Carbon dioxide in the atmosphere enters the biotic parts of the biosphere through _____.




a.  burning of forests

c.  photosynthesis





b.  combustion of fossil fuels
d.  all of these


3. What type of cycle is depicted in Figure 2-10?

[image: image2.png]The model below shows how carbon is recycled in ecosystems.
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Which best explains how plants contribute to this cycle?

A Plants combine carbon dioxide and water to make food.
B Plants obtain their food energy directly from the soil.

€ Plants convert carbon dioxide into chlorophyll.
D

Plants combine carbon dioxide and oxygen to make food.





Figure 2-10



a. carbon

c. phosphorus





b. water

d. nitrogen

[image: image3.png]The model below shows how one substance is recycled in ecosystems.

Atmosphere

(Cellular re:

Highe=level Primary

Detritivores
(soil microbes and others)

S~ Datris

What is the substance that is being recycled in this model?
A carbon

B nitrogen
C  oxygen
D

water




  4. 

           5.  Nitrogen is released to the abiotic parts of the biosphere from the 


     processes of death and_____.




a. decay by bacteria



c. runoff





b. infiltration of groundwater

d. lightning in storm clouds


6.  How does water get into the atmosphere from plants?



a. precipitation
 
c. transpiration





b. photosynthesis
 
d. infiltration

7. What human activity added the most carbon to the atmosphere?



a. burning fossil fuels

      c. mining fossil fuels



b. planting trees in the rain forest
      d. increasing soil erosion

8. Bacteria drives the ________ cycle.



a. carbon

c. oxygen



b. nitrogen

d. hydrogen

[image: image4.png]Condensation

Evaporation




9. According to the image above, precipitation is __________________.
a. liquid water changing to water vapor and rising into the atmosphere

b. the loss of water vapor through the leaves of plants

c. a deposit of water to the earth surface in the form of rain, hail, snow or sleet

d. water vapor condensing on dust in the atmosphere to form clouds
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.
Key

1. B

2. C

3. B

4. A

5. A

6. C

7. A

8. B

9. C

10. A

